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N2 Us.ng the prinelple of utility t.hmry ahow that lndl\siduals wha use logarithmic utility function are risk averse

"STA 2309 & STA 2310; RISK THEORY CAT 1

. 1, Explain the followlny terma as usad In jlsk theory: }4 !narka) N,
A i. [ ‘t 3
*+ (a) Risk awerslon ! R

(b)»f\lsk mansgetnent o : { \,
(c) Thise accept fisk . ‘
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(d)Mmpm\ce : RO N

N\ and hence determine their risk aversion coefficlent. (4 marks) \ ¢ o
3. An individya is facing & random loss, X, that is l.mfonnly distributed on [0 200]. The [ndividual can by
partial insurwnce cover against this km under whicli the individual would pay Y = min(X;10C), sc that the
* individual would pay the lose In full if the Joss was les than 100, and would pay100 otherwise. The ladividual

_ makes decisions tsing the utility ﬁmctxcu u(z) = 2*/% . I3 the individual prepared tc ,,,av E.O for this partial
“izsurance cow.r if tke mdividual's udth is7300? (Gnarka) .

4. & mdom vamde X repnsentmgdalm amount La an insurance company, can be modelled us.ng exponen'..&! o

= distribution with parameter 8. Using the mgf recognition technique determine the density function of S =
fA' -LXz + ~+Xj, hence detetmine its mear and wiriance. (6 markas)
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8 F..dtacmmmdvmumofmdommiahbx wrereq 0.07 aad claim amount ia fixed at 40. (4 m'rb)

€ Siating examplxy difere=tiate between systema.t.&:u i unsystematic risk. (6 marks)
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